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Two identical conducting balls having
positive charges q, and g, are separated

by a centre to centre distance r. If they
are made to touch each other and then
separated to the same distance, the force
between them will be

(a) less than before
(B) . same as before

(C) more than before
D) zero

In India electricity is supplied for

domestic use at 220 V. It is supplied at -

110 V in USA.-If the resistance of a 60W
bulb for use in India is R, the resistance
of_ a 60W bulb for use in USA will be

@ R
® 2R
(€ R4
©) Re

The line integral of magnetic field over a

_clos‘ed loop is 4 times net current

enclosed by the loop. It is called

(4) Gauss’s law

| (B) Ampere’s circuital law
(C) Tangent Law

(D) Maxwell Law
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4.

Three wires of equal lengths are bent in
the form of loops. One of the Ilcops is
circle, another is a semi-circle and the

-third one is a square. They are placed in

a uniform magnetic field and same
electric current is passed through them.
Which of the following loop‘conﬁguration'
will experience greater torque?

(4) Circle |
(B) Semi-circle
(C) Sqguare

- (D) Allofthem |

Which of the following is NOT true for
electromagnetic waves?

A It transports energy
(B) It transports momentum
(C) It transports angular momentum

(D) " In vacuum, it travels with different
speeds which depend on. their
frequency

The ' aqueous solutions of sodium

formate, anilinium chloride and

_potassium cyanide are respectively

" (A) acidic, acidic, basic

(B) basie, acidic, basic
(C) basic, neutral, basie

(D) none of these
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10.

Among the following cells

L
IL
III.

IV.

Leclanchq cell

Nickel — Cadmium cell

Lead storage battery
Mercury cell’

Primary cells are

Gy
®)
©
)

Iand IV
Iand III
I and IV
II and IIT

matched?

(A)
B)
©
)

Emulsion - Smoke

Gel —~ Butter

Foam —~ Mist

Whipped Cream — Sol

Electrochemical process

‘extract

(4)
®)
(©)
@)

Iron.
Lead
Sodium
Silver

Which one of the following is correctly

is used to

The geometry at which carbon atomi in
diamond are bonded to each other is

(A
®)
©
®)

Tetrahedral
Hexagonal
Qctahedral

None of these
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Ter——

~11. Identify the other name for Macro

Economics

(A
(B)
©)
®)

12, Which of the following statements are

" Price Theory‘

Income Theory
Market Theory

Micro Theory

correct about Self Help Groups (SHG)?

i.

iv..

@)
®)
©

D)

The SHGs promote thrift in small

proportions by a minimum

contribution from each member.

From the pooled money, credit is
given to the n'eeﬂy niembers to be
repayable in small instalments at

high interest rates

SHGs have helped in the

empowerment of women,

Such credit provisions are generally
referred to as

programmes.
i, ii, ifi and iv

ii, iii, and iv

i and iv

i, iif and iv

UDC/2023°

micro-credit

11. - GméGUn_' cré&ammil&adler Ln,[bGl,r_mr@ Quuienys

12.

seTLHleyn

(4)

®
L (©

(D)

fleney Gam ()
amwrers Camiun)
&ﬁémse‘s Cam_un

enwsCrr Swhl

W o geila @@és#dr (SHG) u;b,ﬂ:ﬁlshm@th

snpmaaiicr ergy. eMwnarg ?

i

" iy,

A

®)
©

- D)

su p.gaﬁl&@@é&sﬁ eeQeums
2 pudieniler Geappsle umsaﬂa_ﬁ]sﬁ
gob  Aflu  DEzsde - Assaipes
sasgedsdenper.
30, (RN W T ueg A mpg,
CgenauiLifib . ag;ﬂtﬁ]mr’rs@é@' - NPE
aly Adgide Ay saumarseild
AoLdE Qegugs
m;prﬁ:&::l-l_:@é]mgl.

ST

Querrgener  Gubupssarded . sw
2 sefléEpsadr 2 geflydrerar. '
Qéswaw sL& ghHuN@EET @erg;mrres
owsCrr-A0gt  HlLdisar  oreny
GHCI_DuGSenper.
1, i1, 1iL whpib iv

il whmb iv .

i, 1ii topmith iv



- 183.

14.

15.

- ®

Which of the following statements are

correct with regard to economic reforms

in India?

1. Qutsourcing is emerging as a major
activity in industrial and service
sectors. '

ii. During the reforms, growth of

agriculture and industry has gone
down but the service sector has
registered growth.

iii. Reforms have benefited the
agriculture sector. There has also
been an increase in public
investment in this sector.

iv. Industrial sector growth has slowed
down due to availability of cheaper

imports and lower investment.

(A) i, ii, iii and iv
® i iandiv
(C) i, iiandiv
®) 'i,iiiandiv

Which of the following is a direct tax?

(A) Excise duty
Income tax

(C) Customs duty
-_ (D) Service tax

Which of the following is measured by
the Lorenz Curve? '

(A) Iliteracy -

(B) Unemployment

(C) P_opulation growth rate
| '(Dj Inequality of inc;)me
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16.

17.

18.

19.

—————— deals with the distribution of
land forms, their origin and the forces
causing changes over these landforma,

(A) Soil Geography
(B) Geomorphology
(C) Environmental Geography

- (D) Bio-Geography

Four traditions of geography tere
introduced by

. (A) Hartshorne

B) Gerard Mercator
(C) William D Pattison
(D) Humboldt

Which one of the following is NOT the

quality of a planet?

(&) It should orbit around the sun

(B) It should not be a s;t.lte]lite of an
planet

(C) Due to its own mass and self
gravity, it should get a spherical
shape

(D) It has light or heat of its own

The Halley's Comet was seen last in 1986
and it will be seen again on -

(4) 28 July 2061
(B) 28% July 2066
(C) 28" July 2056
D) 28% July 2051
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. The origin of the spherical coordinate 20, Garer gEidlaariy Sewinilsr Qgm ssb

system is at O degree latitude and 0 0 w80 =isCros whgs 0 wiA Siés
degree longitude. This spot can be found Grevasuiicd oderg. Qs QLiws

inthe : £ srexTmLD. ° :

(A) Pacific Ocean {4) uél_ﬂ& QupiisL.d

(B) Atlantic Ocean B) Slerdrys QuUEBEE_S

(©) . Indian Ocean S © @pdur QuEhss

(D) Axctic Ocean D) oiéns QuErsd

__is a partially enclosed coastal - 21. &Gony oquifi Gsrer, @@ LGHweay
body of brackish water with one or more . @pr-uuL., @53791 Sz IEPG gm.fbl-"-jl—
rivers flowing into it, and with a free Spsar  Spgier Qe gpab  Jpks

connection to the open sea. _ aLgidr Ge@d U@é‘
(4) Estuary _ (A) @ssganghd

~ (B) Delta : . (B) QLdéLr
(C) Meander | . ' (© Beawmi
(D)} Levees ' . : D) Seuev

The upper most layer-of the atmosphere 22, 400 &b  qapge /1600 &b ey
which extends into the outer space from demQaraide. fan@erar aafosm asfdr

above 400 km up to.1600 km Cuod P46 _

(A) Mesosphere C (A 1BCenauSwi

(B) Thermosphere ' ‘ ®B) QgiGuravSui

(C) Stratosphere Q) evgnGune@uir

(D) Exosphere , , D) eaCounauiSwir

The imaginary line connecting fhé places 93, 10 atey Cusglin eder GLismer
having equal amount of cloudiness _ Qeansgh spumars Car
(A) Isonephs ' . (A) gGan@a{Ddu

(B) Isobars i _ (B) gGsmumicy
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24. Which of the following rivers dees not 24,

. flow into the Arabian Sea?

(A) Tungabhadra
(B) Sabarmati
(C) Mandovi

(D) Narmada

25. Match the following : 25.

I.  Pangong Tsolake i. Mizoram

II. Balpakram ii. Assam
National Park

III. Orang National iii, Meghalayh
Park

IV. Palak Dil iake iv. Eastern
' Ladakh

(A)  T-iv, T, I, V-
®) v, II-ifi, IT1-, TV-ii
Q) L, I1-ii, 1114, TV-iv

(D) L, II4, IHl-iv, IV-iii

26. The study of inscriptions is called 26.

(4) Epigraphy '
(B) Gartography
(C) Calligraphy

(D) Archaeology

- UDC/2023 _ 10
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27,

- 28.

29.

30.

Gy

The establishment of — empire
changed the administrative and
institutional structures of South India.

@A) Bahmani

(B) Vijayanagar
(C) Mughal
(D) Nayak

Which of the following battles helped
Shershah to establish Suri Dynasty?

(A) Battle of Kanauj 1540

®)
(C) Battle of Duhariya 15632

Battle of Chausa 1539

D)) - Battle of Chandewar

Which of the following terms was not.

used for coins of Vijayanagar Empire?
&)
(B)
©

®

Godyana
Psgoda
Varaha

Talus

Gajula ' Lakshminarasu inspired the
foundation of on 26 February
1852.

Mladl;as Native Association
B)
©
(D}

Madras Mahajana Sabha
India Society

East India Association

11
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31

32,

In which year English Education was

)
(®)
©)
@)

introduced in India? )

1825
1835

1845

- 1855

Horﬁe Rule Movement declined after

@

(i)

(i)

Besant accepted the proposed

Montagu-Chelmsfqrd Reforms.

Tilak went to Britain in September
1918 to pursue the libel case that

he had filed -against Valentine

Ch1rol the author of Indian Unrest.

The Indian Home Rule League was
renamed the Commonwealth of

~ India League and used to Iobby

&)
®
©

@)

British MPs in support of self-

government for India

Which of the above statement(s)
* is/are correct?

(i) and (iii) only
(i) and (ii) only
(i1) and (iii) only

(1), (ii) and (iii)

UDC/2023
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- 33.

34,

35.

Consider the following statements: 33.

| (i) The Constitution has defined who

would be considered as ‘Angle
Indians’

(i) The Constitution 102" Amendment
Act allows the continuation of
reservation of seats for Anglo
Indians in the Lok Sabha and State
Legislative Assembly

(iii) The Governor of a State may
nominate two members of the Anglo
~ Indian community to the State

- Legislative Assembly.

- Which of the above statement(s)
is/are correct? ;

(&) (@ only

B) (i) only

(C) () and (iii) only
@) (), (i) and (iii)

The Rampa Rebellion in 1922 was led by 34.

(A) Alluri Sitaram Raju
(B) SantRavidas

© Kaloji Narayan Rao

(D) None of the above.

French East India Company was formed 35.

by

(A) dJean Baptiste Colbert
(B) Joseph Francois Dupleix
{C) TFrancois Martin

(D) Bellanger
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38.

36.

Whicﬁ one of the following is not correct?
(A) A university
(B} An heir

(O) An European

(D) Anorange

Choose the incorrect sentence

(A) My friend and benefactor have

come

(B) The orator and statesman is dead

- (C) . Bread and milk is his only food

(D) Slow and steady wins the race

Given below is a sentence in Direct
Speech along with four options. Select
the option that expresses the same

sentence in the Indirect Speech;’

Reshma said to Priya, ‘Why are you
sketching on the wall?’
(A) Reshma asked Priya why was she

* sketching on the wall

(B) Reshma asked Priya why had she
been sketching on the wall

(C© Reshma asked Priya that why is
" she sketching on the wall

I_(D) Reshma asked Priya why she was

sketching on the wall

UDC/2023

39.

40.

41.

Consider the following sentence

You cannot have it both ways

In the above sentence the word ‘both’is

used as....

(A) Adjective
(B) Conjunction
(C) Pronoun

(D) None of the above

The sentence, ‘Give the order is

converted into passive voice as follows.

" Choose the correct one from -the

following:

(A) Order is given

(B)  Let the Order be given
(C) Order was given

(D) None of the above

Choose the correct response to the

following question :

Do you brush your.teeth ﬁﬂer every meal?
(A) Yes, Ido

(B) Iam always brushing my teeth

(C)" Yes, I brush my tooth after every
meal

D) 1Itwice brush my tooth



42,

43.

(B)

The first and the last part of the
following sentence remain unchanged.
In between them the sentence is broken
into four parts and jumbled.

1. Many people

P. that the government can always

pay out money quite easily

Q. that the government can only pay
out money

| R. seem to think

S.  but they forget
6. that it has received in taxes

Which of the following will be the
correct arrangement of jumbled
parts? '

RPSQ
SQRP
QRPS
QPRS

(4)

©
)

Arrange the -following ‘words in
dictionary order

(i) Anthem

(ii) Anteroom

(iii)' Anterior

(iv) Antenna

@ O, (), @, @)

® @i, @), @, @)

© @), i), @), O
(i), (i), Gv), G

)

44.

45.

46.

15 -

Find the correctly spelt word :

(A) Lackdaisical
B) Lackdaisicle
(C) Lackadaisicél
49)] Lackdaesica.l

The antonyms of the following words are

wrongly paired.

-Words . Antonyms
@ Abate @) fortune
- (I) Abject (i) clarify
(III) Baffle (iii) commendable
(IV) Calamity (iv) aggravate

The correct order is
@), (i), Gv), @)
@), 0, Gv), G
(i), @), @), Gv)

Gv), (i), 6, 6

(&)
®)
©
i)

.Supply the missing word in the following

sentence

It wasn't a bad crash and ———— _

damage was done to my car.

(A) light
B) little
.(C) small
(D) mere

UDC/2023




47.

48,

49.

50.

“(B)

. ®

- Which part of the Indian Constitution

consists of Articles on election?

(A) P‘art; XV
Part v
Part XX

Part X

(©)
(D)

Which of the following statements
‘regarding judicial review is correct?

(A) It can be curtailed through an

amendment

)

Only Supreme Court can exercise
judicial review
©

examined through judicial review

D)
the Constitution

In which year was the first Inter-State

Council set up?
&) 199%0
-1991
1992
1993

©
D)

Which Constituti_onal Amenciment ._Act
provided for establishment of common
High Courts for two or more states? -

(4) 55 Amendment

(B) 6t Amexidment

(C) T Amendment

(D) 9 Amendment

UDC/2023

Only legislative eriactments can be .

It is a part of the basie structure of

48,

16

47, @by srdwemwinfdar THS

49.

50.

LGS

Caiige Ubhlus S (Henyseners

Qarew@erarg: ?

'- Q) usdXV

B) ugdV

(C) U@QXX |

D) vegdX

58aion wpeie Agm_tiumer Geraugmid
Sifléenssafld ol efwrarg ? )

@) o5 ow Aot Wb Gopssomh
I(B) o8¢ Fhuwdpd 1w GCw if:3
. elemyaearaw Cuhlsrdrar apguyn
© Bhsgean vy gt FLLepE
sLmzear wl@EGL ie Qedw
yLb ' ‘
O 85 wAuesoodd Sig L
aLenotniler @ uGHwurgin
apseh, wrflodsgsés e Cuwmer
&l s e SiMDEELILCLE ?
(A) 1990
®B) 1991
(C) 1992
(D) 1993
Gren®  svem egpe  Cuopuil
mRleomaEssE Qurgieunes - ewi
Bodphsas  fpcesie  aps
Sirflueenoti Hesss FLb cupirdluig) ?
(A) sag Q(r_r;,g,snb '
®) sag dopsd
© rag dossd
D) sag Ao
A



51.

52,

53.

54.

Which of the following language was 61,

added in the Eighth Schedule of the
Constitution through 71* Amendment
Act of 19927

(A) Bodo

(B) Manipuri
(C) Dongri
(D) Santhali

Which of the following features and their 52.

source is wrongly matched?

(4) Judicial Review — British
practice
(B) Concurrent — Australian
list Constitution
(C) Directive - Irishl
Principles Constitution
(D) Fundamental -~ Us .
- Rights _ Constitution
Sandy Storm is the autobiography of . B3.
(A) Kapil Dev -
B Dlllp Vengsarkar
(C) Chetan Sharma
(D) Sandeep Patil
‘Zezlo How' in Parliament bég‘his at - 54,
(A) 10.00 am
(B) 11.00am
(©) 12.00 Noon
(D)‘ 1.00 p.m.
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1992 @ér Tlaiy Hmsss sLLpfen oo
sirflweemintnfen e Lraug Sittaramearruild
Qeneumd arhg Qumfl CofdslinLgl?

(A) CunGrn

- (B) mesaﬂt;lglﬂ

© Guond
D) shgwed

Qenqu@md  aps  SbsRsEHD  oeuppler
apeupd sapralt QurgbaiLdrarg ?

Q) fhegep - Gty
gty FA_QpoD
B) osHmsauner - S HCrlw

Ll g - siyflueenoly
©) opgray . = gty

Cam_un@adr SiySlueenoliny
D) SintusL. = US

o flenoger SréhuanioiLy

' greimty, Guig b ereug) @eullen swsfleg

L) s9¢ Cgel

®) FeSu Qautigirdaniv
(C) GCosgger smon

D) sHl umnled

[ ' '
sromeswapgde  'QGr apai’
Qam_rgaug

(A)  smene 10.00 wexfl
B) 5[@:@) 11.00 wexfl
(O m@_u.ub 12.00 wexfl
O) wHub 1.00 wei
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65. Transfer of pollen grains from anther to
the stigma of a different plant is called

(A) ZXenogamy
B) Géitonogamy
(s Autogamy
{D) None of the above
56. Which of the following statement(s) are
correct’? '

(i) Placenta facilitates the supply of

' oxygen and nutrients to the
embryo. _ ' - '

(i) Placenta facilitates removal of
carbon dioxide and excretory/waste
materials produced by the embryo.

(iii) Placenta is connected to the embryo
through an umbilieal cord.

(iv) Placenta also acts as an end_ocrine
‘tissue  and produces several
hormones.’

(&) O, (i) and (ii)

B) (i), (ii) and {iv)

©) @, (i), (ii) and Gv)

@ (@, (i) and (iv)

517. a graphical representation to

calculate the probability of all i:ossible
genotypes of offspring in a genetic cross.

A)
®
(©)
®)

Pleiotropy
Mendel’s Law
Punnett Square

None of the above

UDC/2023
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55.

56.

57.

warpss gedEmer warpssAdGEE Gog

grampder  sabsgdne . wmppeg
aengy SenpsstLRapg

&) QgGamamd |

B) &CrCGarramd

C) L CLiGad

D)

CuCe ergiayd Hdare

dertaumh smppsaiis ag sllurearg ?

®

(i)

pEesAang.,  sGasG - psafiger
whHgIb  eql L EFpHEEMET  annis
2. gdlpg.

Bg&EQamg ety s@ellamd o.pugd
QeliwsuEd  smiuesr L E@ER

. opgd QauahGuippb/sflay

(iv)

(4)
®)
©)
(0

QumgLaenar SiEhy 2 s dlDE.

pgEsEdany., | Gmigdr Qamguldr
gped sme|LdT Gararsalulerarg).

BesesQamng. preanfldanr fassarsen
Qrwududng wpgh  ue
spriGuorarseear 2 pusd Qandpg.

@, ) wppw (i)

(), (i) wppd @)

), i), i) wppd ()
@, Gi) wppd G)

@  WwnSwed @@é@ anfllle spgdsaflar
SarsE wuey aemssdlar Hlapssma

sN&H Peugparen

S PP gD -

(4)
02)
©
()

USSR

8O

WG Cwm_CymQ
Quoeim_cfle ol
yenGlen ev@amuir

Culw agiaid oo



58.

59.

Mammalian egg is ' 58.

(A) Mesolecit:hal and non cleidoie
By Microlecithal and non cleidoic
(C) Alecithal and non cleidoic

(D) Alecithal and cleidoic

The process of - copying genetic 59.

information from one strand of the DNA
into RNA is termed as

a) iniﬁation

B) transcription'

(C) elongations

60.

61,

(D) termination

a complete set of chromosomes is
separated from a cell and the
chromosomes are arranged in pairs.

(4) Karyotyping

" (B) Pedigree analysis

(C) Hap}odiploidy
(D) Phenylketonuria

The integration of natural science and 61.

organisms, cells, parts thereof and
molecular analogues for products and -
services is called

(&) Biochemistry

fB) " Biotechnology

(O Genetical Engineering
(D) Biomedical Engineering

19

is a technique through which  60.

LRIy QL G0

&) SGsnalflzed  wHmd &efGLmlls

S|DQTHZY . _
B) owsCmbaéifssd HHD &efiGLmbs
) SIRQTSF!
(C) Qeflgd wHmIb &efCLmis
SHDVTSH)

D) <Qwfzd wppib &aNGLmIs

gorérg.cier @ QenpuildiGhg WL
gacudEemar  Ryr.cre.e.efld pECBEGD
Qewdpep arar
SisauBEDg). :

(A) gleugad
B) ' unQupsed
(O prflser
D) apusse

aaug GG SOFANGEE .
QM  pevurar &CqrGunGembaer
Gfss0uUCE, GCrnGrlsmbad Ggmyasms
SDESULLILGEGSD G GILIONSD.

(A) EanpJﬂwLﬂlﬂrﬁl

-(B) urflbuey LEGUUMLa)
(C) aomiGamguGarmudiy.
D) &Quafle@aCLrgnflum

Qupers Sifteflwd  whHmD o W flamiser,
Qedaser, DIBET UmERsEr LHHID
apossag Sieans wpgh Gemaus@psanar
quyennasiicn guuhdememriiy
Stenpésrubiag

@) 2.9iCuSTL®

B) ﬁGmGu..é;m:rm@

©) wugy Qurililud '

@) uBurBwysad Gengdaflunfi
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62,

63.

64.

65.

66.

Reproduction which does not involve

- union of male and_ female gametes is

called

(A) amphimixis
(B) apomixis

(C) parthenocarpy
(D) polyembryony

Which of the following ecosystem has the
maximum biomass?

(A) Pond ecosystem
(B) Lake ecosystem

(C) Grassland ecosystem -

(D) Forest ecosystem

Which of the following plant reprodﬁces
by leaf? - , o :

Q) IA.gave

B) | Bryophyllum
(C) Gladiolus
(D) Potato

Most animals that live in deep oceanic

waters are

() Detritivores
(B) Primary consumers
(C) Secondary consumers

D) Tertiarj; consumers
Good ozone is found in the

(4) mesosphere
(B) troposphere
(C) stratosphere
D) iﬁnosphere

UDC/2023

62,

63.

64.

65.

66.

Oefteum  graghisaia orgl

< whmb Quer Cawi_saar Qeenssrg

GentQumssid St psauRag!

@)  eoasf
B) HCumfsflen

(O umigECamaning

D)  urferbAACuread

Wereu(pid GI"[S‘E‘ EDNESHIPD oD
Siflsues 2 uiQummer 2o crarg 2 .

@) @ sppsepsd

(B) | gl sppEG e il

©) yoQeuaf FHMIEGPD el
D) et sppsGd oy

Pee g

QeQusand Qstdpg?
(A) Bossggrey

B) QenCumiden
©  fearmgCuiraveiv

@) ememeasdipiss -

<ppwrer sd Gfld urwd QuEblirorer
eflenigadr -

4) Qe C g Geuntras

B) gpzeneno matCounmiv
©) @resLmbd Neve matGourt
D) weprd PHevwr paiGeuni

.‘[5@.0) qGanar @a.rmpﬁd) sremsu@Sng) '

(A) BGsmeSisi

B) CCyaCunsuQus
() s gGL renturt
)] <wGeameviuir




67.

68.

The name of Dr. Norman ‘Borlaug is

associated with

(A
62)
©
@)

Chipko movement was launched for the

Green revolution
Yellow revolution
White revolution

Blue revolution

protection of

Y

. B

69.

70.

©

®)

The

foresté
livestock
wetlands

grasslands

GSDP of the Union Ter_ritor}.' of . 69.

Puducherry has been estimated at

@&

®)
©
(D)

Which of the following -is NOT correctly
paired? '

&)

®)

©

(D)

- 89,019 crore for 2022-23. This is

higher than the previous year.

6.02%

4.09%
5.50%
3.90%

Space Application— Ahmedabad |
Centre
National Remote — Hyderabad

Sensing Centre
U R Rao Satellite — Sriharikota
Centl:e ‘

Vikram Sarabhai — Trivandrum

Space Centre

21

67.

@,

68.

o)

70. OdraumaeTabBid

o

Lrss.  prwoer  Cumionsdlar  Guw

Dpep-ar AgnijeLwg
u&énwﬂ: e
® v
©
(9)

WwigheeT yor.é)
Qouckreno L)
Boos Lgél

AMuGar Quéasb Haer

Qzrumsiul Lg

(4)

®B)

©

UMGENILEETE

an(paer
SNQFENLGET
ryBleokEaT
ydQauaiisdr |

wrefhwie ﬂq@,ﬁswnar 'qgéCe;ﬁluS}dT GSDP

2022-23d 39,019 Gamuns
wAind LU Geaaig. B& Whasw ere
el ESEALAT TS

(A)
(B)
©
3)]

6.02%
4,09%
5.50%
3.90%

sflwure

g
Peerastiusilome?

(&) oflemQasf - SESTUTS
LwssuUnt{ erwnwitb

(B) Cpagerey MG ~ * @ADSIILNS
Qaenfln: Qe Co

(C) URgmau - -
QewperssGandr

entoith

wbanfGsmiLmr

sy sgagmumiy -~  Hoeuabsuyrn
RerQeual enowh '
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71. Andaman and Nicobar Commanﬂ is”

72.

73.

74.

)

(4)
B)

a command of the Indian Army

a regional command of the Indian

Coast Guard '
(C) acommand of the Indian Air Force _

a joint services command

What is the name of the Pilotless Target
Aircraft developed by the DRDO? .

(A) Tejas
(B) Sukhoi
(C) Lakshya
(1_)) Vinasak

Which one of the following is the world's
first commercial computer to attract
" widespread public attention?

(A) CSIRAC

(B) Ferranti Mark I
(C) LEO-1

(D) UNIVAC1

Going Online as Leaders (GOAL)
Program was launched by in
partnership with the Ministry of Tribal
Affairs ,

(A) Google
(B) Twitter

(C) Yahoo

(D) XFacebooi

Monitoring App for Seamless Inspection

I) is associated with

Healtheare

(A) Monitoring “of
Institutions
(B) Inspection of Educational
Institutions _
(C) Inspection of Old Aged Institutions
(D) Monitoring of Child Care
Institutions

UDC/2023
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78.

75.

59 wflas seilad

D)

Sipswner HaCGaruni s eer

A Bpdw Quremeusen sl L_ear

(B) ‘%}Bﬂm sLCorr  sreduemLular
gubsly sl Lenar

(©). @pHu eAwreniueL@er st._amer

D) en sl (B Geaneu &L anar

- DRDO o_meunsdu eouar Poarg LriQsc

ceflwrensfer Quuit erarare -

(A) Cogeiv

B) &Csmi

©C) wsagwnr )
(D) ocRemas

Lyeuener wisellen Suatgems Figs o wddr
iSereupararaubic
TE!? '

(4)
®)
©
D)

CSIRAC
Ferranti Mark I
LEO-1
UNIVAC 1

%drmms&} S e (GOAL)
S LG g il e Beuamy
SIDWEEESEIL ST QDRIBH —————

Qzm st Lg).
(A sager

B) cCelcua
C) wnrap®

D) Cuevys

CamSn

gL wpy geysarer (MAS]) sawarefiuy
App @separ AgninyeLwg

(&)  sangny Bpeueiisalien sararafiiy
(B) addl fimeuenaseflcr ey
apHCwmiv ﬁlgummr&asaﬂs‘n ey

@phes  ugrofly  Apeadsailer
3 g foai (W] )

©

A



7.

78.

79.

The Developing Nation Status Act
approved by the US Senate Foreign
Relations Committee seeks to remove the
“developing country” status of '

(A) China

@B) India

(C) Pakistan
(D) Bangladesh

'The first Indian woman to receive a Ph.D
in a scientific discipline

(A) Aditi Pant

(B) Anna Mani

(C) Xamala Sohonie

@©) Kamal Ranadive

The international conference ‘ANGAN
2022’ was organised in India by the

(A) Bureau of Energy Efficiency

(B) NABARD
(C) Niti Aayog
(D) HUDCO

Reserve Bank of India has Inunched a
dashboard called ‘Antardrishti’ -

(A) to monitor
transactions

foreign  exchange

to monitor online transactions

(B)

(C) to evaluate and track the.

advancements made in financial

inclusion across the country

(D) to assess the credit
, transactions

card
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78.

79.

(©

(D)

SQufss O Qauelypas Gupeund
odsNssiulL aa@gb Frl Hews srLb -

Peer  “aar@md  pr@”  Heoews i3
puLEDE

(A) Sem

®) @pdwr

(C) unflevgmen

)] urﬁ:&smn@;ﬁa@

 aflefud gamid aperareul uLLb QU

e Quasr GeHwuir

(8) <48 ups

B) - e werfl

(O swor CsnGaprGer
D) swa gearfte

sieuCge IEn® ‘ANGAN 2022 @pHurelld
Geuhprd gHun® QeliitLg

(A
®)

< Hpd Hper uafiwsd
pumrH

B pGuiné

D) eotGar

@pdu Retds bl ‘spsisidy’ adp
LresCumieL sifigpsiubsiiug

A) opfu Geonauei uﬁlmﬁ’ﬁ;sms&ramm

sananailss

(B) <ycnenaen
adnaTaiss
BrG  erueugn B  eden sssdo
ghuLGearar apenCenppiisae wHAISE
Qsig acnanailss

ufleuiggenansemar

(©

A, (POWR: 101 [ () uﬁlmr‘rﬁgme;mmm
wHdPasHE |
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80. Which city was ranked first in India in

81.

82.

* the EIU ‘Global Liveability Index 20227

Gy

Mumbai
(B) New Delhi
©)

Béngaluru

®

Chennai .

The eﬁdangered species ‘Deni.son Barb’
is a

(A) Crimson Rose Butterfly

(B) Fresh Water Fish -

(d) Spot-billed Pelican

(D) Swamp Deer

HW. Voysey of the Great Trigonometric

Survey made the first Geological Map of

(A) Madras region

(B) Bombay region |
(C) Delhi region

Hyderabad region

UDC/2023
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80. EIU ‘Global Liveability Index 2022 &

81

Sidunelld apgd BLsas Ouss 'l_'DSIJ'Lb‘
aH? :

4) weu
B) . ug A_oa
©C) Quiragsm

@) Qocranar

Sfpg @@  Gernorar ‘Queflsdr L

SreTug 9@

) Bfser Gyred UL byl
®) et der |
© ‘duufn'.-uﬁld:@ Quedlsar.

D) emoy wrer

"HW. Gami, § 8Gn o ACanGam@uor Aad
 &iCoauudier

SlgnpugHer
@5® yelluwe sumiyun_gmg e eungéleni.

(A) Qzerenen waTLOD -

-

B) kLN weT_wD
(C QL r.nazm_éulb

D) evangymung weTLWD



83. Which one of the following is’ NOT a

84.

concentric circle in the National War

Memorial inaugurated in 2019?

&)
®)

©

)

Which one of the following statements 84,

Raksha Chakra-
Tyag Chakra
Amayr Chakra

Kirti Chakra

about commemorative stamps is NOT

correct?

(A)

B)

©

)

Commemorative postage stamps
are issued on subjects / themes /
institutions / personalities / events

that national or

have B
international stature or have made
national /international contribution

or impact.

Stamp may be issued on a living or

dead personality

The personalities on  whom
commemorative postage stamp may
be issued should be of national or

international importance

Alsb, the  occasion to be
commemorated must be ‘the birth
centenary or 10% / 25t / 50th / 100

death anniversary
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83.

2019 Q& ,@msé;auf.u_ Cgélw  Gumi
Peasrasidle dau@uarapild g aow

L b @den?

(A} p&Eqm s&IT
(B Hwns ssy
(C) nof sagr

@) &g séyn

feerey @ifowsdr upfu  Setaughd
appissile ag silurerg SO ?

Gof  siiop  stelss  SpEeg
Qe sbeg Csflu | stauGse
uiisafily SIdws sTEss0s FHuBEHL
LIM_fRI&GET ! .
Poicueiiadr | <p@senoset [ Hapeser
Bz Bleemay  SigHER
QauafluiiLCiu@dlemper

(A)

Tl o

and sdogy BNEs pasmwiler
85 wideny Qeasafluii i omb

®)

©) ;Elmauai SUTH g QeuafufL_tiuEib

putssr  Cpflu  Soeg  siabss
wsAusmaud anigunrs  QEés
Cauampnd

(D) Cuogubd, faee smprue Geusmgu

Fhaiowmd Gpliy prppre® b

10 aug) / 25 qug) [/ 50 augl | 100 aug

Spe®m Hevenay Qmés

Carcim(hid

BUeTnS
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85. World Economic Forum’s Global Risk

86,

87.

Report examines risks across which of
the following categories? '

i) Geopolitical

(ii) Technological
(iii) Heritage and Culture
(iv) * Societal

Select the correct answer from among
the following: '

| @), (ii) and @v)
@, (i) and (i)
(i) and (ii)
@), (), (i) and (v)

(4)
(B)
©
@)

The concept of Data Free Flow with
Trust (DFFT) is an initiative of

)
®)
©
@)

United N: ations Organisation
Europ.ean Union .
NATO -

e

The famous oil-on-canvas painting,

~ ‘The Starry Night' was painted by -«

GV
B)
©
)

Albrecht IDurer
Jacques Louis David
Vincent Van Gogh
Edouard Manet

UDC/2023
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85. @&l Qum@eamgny waTPHdr o oaaTTe

86.

87.

©

(D)

Qi Sfdms Veatamd oaps’ umESET
2_aiTeT SUMUEIEMET TMUEDg!

(i)_ © yeflent siflud
(i)
(iii)
(i)

Seraumaaapid BEss sfurer u,;%lmwg

Qzmficr mr utb.
umpbuRwb wHph SQrEsmID

FQPELD

Gairpblg@saaytb.

@)
®)

(@), (i) wpgub Gv)
), (i) wppud Gii)
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88. “You have stolen my dreams and my 88.

89.

90.

childhood with your empty words...

We are in the beginning of a mass
extinction, and all you can talk about is
money, and fairy talés of eternal

economic growth. How dare you!”

. This is a part of the speech of

(4) William Ernest McKibben
(B) Vanessa Nakate
(C) Greta Thunberg

(D) Vandana Shiva

As per the 5% State Food Safety Index 89.

released on the occasion of World Food
Safety Day 2023, the top position is

secured by

(A) Punjab

(B) Tamil Nadu
© Maharﬁshtra

(D) Kerala

‘Sujalam 2.0’ campaign was launched for 90.

(A) Ground water management

' (B) Sewage water management

(C) Grey Water management

(D) Rain water management
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91. The HCF of 20, 50 and 80 is
@) 20
® 10
(C) 50
@) 80

92. If the ordered pairs (a+2,4) and
(5, 2a+b) are equal then (a, b) is

® (2-2
® 6,1
© @3
® ©,-2

93. If in AABC, DE|BC. AB=36 cm,

AC=24 e¢m and AD=2.1 cm then the
length of AF is

(4) ldcm
(ﬁ) 1.8cm
(© 12cm
(D) 1.05'_: cm

94. The p.oint of intersection of 3x- y=4
and x +y= 8is
@A) 6,3
® 249
© @5
D 49

UDC/2023

91. 20, 50 wpgb 80 @en HCF

- 92,

93.

94.

(a) 20
®) 10
(©) 50
(D) 80

| mrﬂm&ﬂ:ﬁ@ﬁsauf_g Cgmysar (a+2,4)

whpd (5, 2a+b) swwrs Fmpstd (a, b)
cTeaTLIg] ' '

@) @-2
@ 61

O @29

O 6B-2

AABC @&  DE|BC  @upste

AB=3.6 Qs15. AC=24 Q&8 wpgbd
AD=2.1 Qg.ib. arafler AE -ulenr Semb

(A) l4cm
(B) 1.8cm
(C) 12cm
@) L05cm

Ix—-y=4 I.Dﬁg;;tﬁ x+y=8 Qer Qe
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95."

96.

97.

If sin@ =cosé, then 2tan®@+ sin?@-1 is

equal to
@ =
® 3
© 2 |
@ 2

The total surface area of a hemi-sphere is

how much times the square-of its radius

@

(®B)
©
®

4
3r

or

If @ and b are chosen randomly from the
set {1, 2, 3, 4} with replacement, then the
probability of the real roots of the

equation x> +ax+b=0 is

(4)

®)

©

@

3
16

- b

16
s
16
o
16
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95. sinf=cosfd eenpnd, 2tan’H+sin®6-1

96.

97.

Bede s
@) '—23
®
© 2
® 3

o ersGemagdar . Qurgs urLLeTy

Siger rsder wLmdd appemer (PP
GO : |

Y x

® 4z
(C 8«
D) 27

a I.;_inigjl.b bgyeng {1,2,8,4} aenp
Qsmgnedlmbs Cargrunons
Cgip@sHEatuIL®, X +ax+b=0

_ getumiiyer oaraw ugHulear fapsae)

® =
© =
© Ic

UDC/2023



98. The

radius

of . the  circle

3x% + by + 4bx —6by + b2 =0 is

@

- ®)
L ©
)

99. If g, 3’,

1

3
i
Vi1

. | .
¢ are three non-coplanar unit

= -3
b+e

' vectofs such that ax (b x ¢) = , then
(bxe) 7

the angle between @ and B is

4

ol

100. The minimum value of the function

|3—xi+9 is

@)
®
©)
D)

0

3

6

9
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98. 3x2+by?+4dbx ---6,’.5_'3;?-1—._?)2 =0 eremp.
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